| ]
0z
I
p-
ye
o

CIAIY AIERE

(88X H3tSHA £2 1] <A 2023. 3. 17>

= I A (m] =
R332 =28 % X&E HAA
% S1Zo| REYHE D BAFH FAIJ| UG (=)
1. 71238 s .X& gA
(¢ - ]
(OR=1"] @ =< WAL @ &y 2 2 X& &roy
Holo|d - - 40045465 | 202244 098 0 9.500.000 | i 15521245
20224 018 0 1a68720 | - siestras| 202244 108 1,000,000 of s
2022\ 02 0 of  siesizs| 20221 118 6:000000 aisom| o 193625
20224 038 97,650.000 104,450,000 £ 24881745 20224 12¢ 42,888,940 ag00d0 | 1(;324;2&5
2022 048 0 o| - oaias Eyl 163,518,940 195,240,060 |
202214 05% 0 of  amims| ISR 0 -
2022 06 10,000,000 1260500 | zoerass|  XEDIAH 163.518.940
202244 o7& 4,000.000 1,000,000 o 25:'021’245"
2022 o8& 1,980,000 1,980,000 ‘ 2’5.'0'2'1.2'45 xolojE - - 17.324,245
2. 7|52 E X& HAIA (FLiAlg)
7k SRS Aol A XIE (cHl 8
OHELHNE | OFegsHs oxs=y | OFdUE Oxi=
(4Y /eHE) | MRXNSFHES) - (SHH)) == ®s2 O== ® 3
Ol Shankan 206827 25% 2408 Zazg 3/ 900,000 0 900,000
CH B assnn 20682725+ L4XS a2 3a/7H 900,000 0 900,000
(@) s =
e 11323407+ g;:'.@ ThE 2 200%/H 0 2,800,000 2,800,000
O} Of e 20628336+ SIS MH= 9304/ 17,363,720 0 17.363,720
g 33, 0jaeh)
= 3DOIA
Ll Shasesrx 57182003+« SHIIAS I8 19/ 0 94,650,000 94,650,000
[==Jy el é - TT =
Swnx 46091 Qxdexkxxx Az Y H-252 18/70 100,000 0 100,000
ASA N2
N FUAENAT S
Bl 481015%5xxxx | Q2 U AP -2%7] 1 28/7H 100,000 0 100,000
AEA K=
FEREFTAA BIHF
Of xx» 430907 *xHkkxx ﬂ -E—__r%’—é ;-l.":lail—g—'T-El 1=/ 100,000 0 100,000
(=N =
— TS ST
O Bt sk 12082089+ | 5 g@aﬂ §'$ = 100/ of 20,000,000 20,000,000
Lt 5000 5rxsrsrs | Dola IE o A CH 1894 100,000 0 100,000
Ofawx 550304 #xxkkks ’éf_:"g Z%é"xéa 12/71 100,000 0 100,000
SIFESIE o 5
Ol s 520420 kinttr %ﬁ B gj%% &?a 19/ 100,000 0 100,000
O 5309 1Grreix %iﬁé gggxg?a 1a3/74 100,000 0 100,000
mE=FEREa 2054657 5% ’éﬁ ;j gj,,DII ) 2 103/74 0 600,000) 600,000
= —Lé [e=3
Srux 851006« xkxxx xi" = g(?g‘ g% = 12/74 500,000 0 500,000
[y A <
Seank 850504 +xxxsxx ;ﬂ% g(g‘é% ﬁ 2) 19/74 500,000, 0 500,000
® & A 1,256 20,863.720| 118,050,000 138,913,720
L XM F S0 X E (ch9y: /)
QMENZHYE | OFUSSHS A Xoa BxrIEH
(M / 45) (MRS EHS) exE=H BXI=H 5 Bz ®== O
/74
/7Y




CER] 0 0 0
ct.2ddulol x|& (el |
_ . e i ET
Ll Rpsersex 13039498* 29 HE) 0 60,500! 60,500
CH B 20682725+ 2EH|(L=A =X) 9,500,000 0 9,500,000
£l Bhernx 20682725+ | RIS | 5,000,000 0 5,000,000
CH Bhskss 20682725 ;‘{ chg ‘% é‘ %D/ﬁg) of 12.588.940 12,588,940
e 20682725+ E?i“ é‘ g of 7,000,000 7,000,000
[l Bhaoenx 62082066+ E%t’é(? #EL2U of 1,610,000 1,610,000
& Eonxx 22081603+ %%E} SAAIE of  3390.000 3,320,000
e 62082066 %g;ﬂ JCNE] 0 780,000 780,000
[ B 62082066+ g% Slicvests of  1.000.000 1,000,000
O Bhxson 50482159%« | 22t of 1,213,000 1,213,000
T Bhewees 50482159+ | @] o] 1,250,000 1,250,000
e 50482159=+ | 22t 0 59.000 59,000
[ Bhesnes 50482159x« | 22H] o 50,000 50,000
e 50482150+ | 22iH] 0 90,000 90,000
D knrn 12103828+ % =g % SRR of 1,155,000 1,155,000
O Bhwwsn 13182820+ g 5 Eﬂl FEIEH 300.000 0 300,000
[ Bhaenne 13182820% _E% S ETEH 1,030,000 0 1,030,000
e 13182820+« | 2H 270,000 0 270,000
Ol Bhers 12082089%« | 273l SYHI 3,000,000 0 3,000,000
CHBHwees 61182618« | SHST oo o) of  1980.000 1,980,000
T Bhsoern 62082066+ | 22H| 5,000,000 0 5,000,000
@ & A 24,100.000] 32,226,440 56,326,440
2. 7|83 E XE YA (FAAR) (chel: ¢)
p— = - 2O

=

=/

=/
@ & A 0 0 0 0

210mmx 297mm| 84 AFX| B0g/m £ SE X 80g/m ]



